Acid-Base Titration Examples

1. This problem involves an unknown concentration of Sodium Hydroxide solution and its titration with 0.1M Hydrochloric Acid.

10cm3 of Sodium Hydroxide solution is made up to 100cm3 in a volumetric flask.  10cm3 aliquots of this solution are then titrated with the Hydrochloric Acid.  The results were recorded in the following table.

	
	Initial Titration
	1st Titration
	2nd Titration

	Initial Volume, mL
	0.00
	12.50
	0.05

	Final Volume, mL
	12.50
	24.60
	12.25

	Titre, mL
	12.50
	12.10
	12.20


a) What indicator would be suitable for this titration?

b) What is the concentration of Sodium Hydroxide Solution?

c) Where are errors likely to occur in this experiment?

2. This problem involves an unknown concentration of Sodium Carbonate solution and its titration with 0.05M Sulphuric Acid.

25cm3 of Sodium Carbonate solution is made up to 100cm3 in a volumetric flask.  10cm3 aliquots of this solution are then titrated with the Sulphuric Acid.  The results were recorded in the following table.

	
	Initial Titration
	1st Titration
	2nd Titration

	Initial Volume, mL
	0.00
	9.70
	10.00

	Final Volume, mL
	9.70
	18.90
	19.25

	Titre, mL
	9.70
	9.20
	9.25


a) What indicator would be suitable for this titration?

b) What is the concentration of the Sodium Carbonate solution?

3. This problem involves an unknown concentration of Ethanoic Acid solution.

a) Outline a procedure for finding the concentration of this acid, including:

a. An example of the base to be titrated against.

b. A balanced equation for the reaction.

c. The indicator to be used.

b) The concentration of the acid was found, by one student,  to be 0.13M.  Another student wished to confirm this using 0.1M Sodium Carbonate solution.

a. Give a balanced equation for this reaction.

b. Fill in the following table of results for the above reaction:

	
	Initial Titration
	1st Titration
	2nd Titration

	Initial Volume, mL
	0.00
	0.00
	0.00

	Final Volume, mL
	
	
	

	Titre, mL
	
	
	


c. What indicator would be suitable for this reaction?

